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Tngonametry Functions and Graphs Lesson #1 I:
Practice Test

Section A | No calculator may be used for this sectzon of the test -

’\}&zy 3 4 %e— ‘
1.  If the value of csc X is positive and the value of cot X is negative, then

C. n<X<3—n D.§£<X<2:r

r
. 2. The exact value of sec 7—? is % J; L
, | |
2/3 N 23 P
3 MJ 3 ‘(;’, V.

C. 2 D. -2

Use the following information to answer the next question.

As part of a review for an exam, a student makes four statements in which the answers are
either quadrant 1, quadrant 2, quadrant 3, or quadrant 4.

‘ 657
Statement 1: A rotation angle of ——6——— radlans in standard position termmates
% sr
© o,

ﬁj:.f;@» } —
ai /g*f -

Statement 2: IftanA <w 0 and sec A > 0 then angle A terminates in quadrant b.+

in qnadrant a.

Statement 3:  Anglesin standa.rd position cotennga/l with an angle of —%ﬂ radians
?;f :

are all in quadrant c. e

b

x/f '{'

Statement 4: For 0 < x <27 , the roots of the equat1on cscx=1.5 are g & @ <,

'in quadrant 1 and quadrantd. )

Write the value of @ in the first box, the value of b in the second box,
Response the value of ¢ in the third box, and the value of d in the last box.

N
. o
—
N

(Record your answer in the numerical response box from left to right.)

3. The penod of the graph of the function flx) = tan an is

Q 05 B. 1 2w

D. 2=

- Copyright @by Absolute Value Publications. This book is NOT covered by. the Cancopy agreement.



584 Trigonometry - Functions and Graphs Lesson #11: Practice Test

4. Compared to the graph of y = cos x, the horizontal phase shift of y = cos(zx + g) is

A. g totheleft »B. gtotheleft » . \/: ngcg(x . f&:ﬁ)

@ 271 to the left D. 8 tothe left

/3 1)

5. The terminal arm of angle x, in standard position, contains the ordered pair ( 2 o)

A possible value for angle x is

T
A T

Section B A graphing calculator may be used for the remainder of the test

6. Anangle has a degree measure of 2r°. To the nearest tenth ofa radlan the angle has-
a radian measure of :

-

' )T 1
&) o1 B 2 AT X

C. 197 D. 360

R}

4

o § o LA e . s
0. 0960 . -

7. The m]mmum value of the functlon fix) =acos bx = d, where a>0, is

(A) -a-d B. a-d -d-q

S

' C: a-b-d  D. -b-d |

8. Apendulum 12 cm long swings through an arc of length 6 cm. To the nearest degee2
the angle through which the pendulum swings is

A. 15 | | ég 126
B. 90° 12 cm =L oyad e
. ' :zv H 2 L
(c) > |
DT
eem
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~ Trigonometry - Functions and Graphs Lesson #11: Practice Test 585

Use the following information to answer the next question.

The partial graphs of f(x)=sinx and g(x)= asin[b{)_c -o)]+d,
where a, b, ¢ and d are whole numbers, are shown below.

g(x) = a sin[b(x - c)]A_+ d

°1 ?emimﬁ =Tob=R
 2--,
e
b} } ' 7>x
A ap RW ‘
-1 <4 . |

-2+

 NOTESHEN2.  Write the value of @ in the first box, the value of & in the second box,
Response the value of ¢ in the third box, and the value of d in the last box.

i (Record your answer in the numerical response box from left to right.) G2 le é%“

. ‘
9. Iftamnb= l“f‘an'd cos <0, then the exact value of sin fis

i 24 }:: TS . . >} ”éy
24 (o rsms we e
_ - ¥
A, 24 B. - R
N T -7 |
( C.J-3 D. 7 .

10. The y-intercept of the graph of y =cos bx +d is
A. b b+1 |

B.
C. d (‘ﬁ) d+1
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. 586 Trigonometry - Functions and Graphs Lesson #11: Practice Test

Numerical 2
3. If tanx = —-5 , m<x < 2m ,then the measure ofx to the nearest 0 01 radians, is
(Record your answer in the numerical response box from left to right.) 51, @@ 0
ad
fud L= 0, 80T
%s ne - " 5 ? 024

11. The point A(S‘Z , 2) lies on the graph of 'y = k sin| x — 3J The value of k is )
, -2 = kogin =
R \/3 A

@ 4 B. 4—3“ ' -7 - j@ Sin

-4 D. 1 :}\/ﬁim

g

Use the following information to answer the next question.

The partial graph of f(x) = acos[b(x - ¢)]+d where a>0, is shown.

%)
7z A

\

2 1:*;
-4 F “

The minimum poiht on the graph 1s S ( g— ,—2.4) _ and the maximum pointis T (37” ,7.2) .

12. The value of a, to the nearest tenth, is

A 24 @ 48

C. 63 D. 96

13.  Which of the following functions have the same period?
g(x) = 2 cos[(x-m)] + 5

- fx) = 2 sm[4(x -m)] +1 2 )

- = h(x)=3tan[2(x - W)] - k(x) = sin[2(x-m)]+54 17

4‘,. ‘4‘ . N R e

A. f(x)and g(x) O fx) and h(x)
C. h(x)andk(x) D. g(x)and k(x)
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Trigonometry - Functions and Graphs Lesson #11: Practice Test 587

14. Which of the followmg statements is true for all Values of x for Wh1ch the function

is defined?
A. sin(-x) = sin x {f]?% cos(—x) =cosx C. tan(—x) =tanx D. cot(—-x) =cotx
Mo o Yes L ke 1 Ne

15. A fan blade has a diameter of 32 cm. If the blade is rotated
532° about its centre, then a point on the tip
ofa blad¢ would travel a dlstance; of

o , r=lb
/A 149m
B. 297m 7S
C. 851m S a- b

D. 1702m

16. If sin 6=- % %0 and tan 0 >y0 then s_@gj to the nearest hundredth is

A. 092
B. -092
(c) -109 o
D. 109

Numerical F point on the unit circle is approxnnated by the ordered pair (0.80,-0.60).
Response To the nearest degree, the angle in standard position between O° and 360° with a termmal
arm passing through this point is

(Record your answer in the numerical response box from left t(: right.) ‘ Zlo 3

17. The partial _graph&showbn is in the domain 0 <x < k.

A possible equation of the graph is YA
A.y=sinﬂx B.y=sin—2—n—x x
. T A
S R .k -1 4+ 2
C.y= sm(E)x .D. y= sm(2)x I . o

j,‘,f

E/««f‘“"”

Copyr/ght © by Absolute Value Publications. This book is NOT covered by thke Cancopy agreement.



- 588 Trigonometry - Functions and Graphs Lesson #11: Practice Test

5 . . In the diagram, an arc of length 8 cm subtends an angle of 90° at the centre of the circle.
Response To the nearest tenth of a cm, the diameter of the circle is

= Wy
g- T
by
ggﬂ \
d 32 1 =2 8cm
7 \
(Record your answer in the numerical response box from left to right.) [ol, wa

18. The funcuon f(e) = tan 6 is stretched horizontally by a factor of —?: about the y-axis.

The asymptotes of the graph of the transformed function can be described by which of the
following where 7 is an integer?

{ ™ [
XY ) g?} y)

A. 6=2nx  B. §="2 L
. \» S £ E Rf Léé.‘r" ;@; k
C. O=m+2nn éx z,nw - 2z
o/ 2 | . T im |
. . a"? 1} *i’-v'?yef& ¥ /(;( J L{
N l6.  The graph shown is a partial graph of y = a sin b(t - c) +dwherea,b>0.
Response y A ;
54— :
4 +— f= 3
3 1
2 Z‘%{” 3 gj
1 // \ // \\ 5 ip = I
1 i > fo- 1 2 b T
- 2 / \ \ o

-3 N 7 " /
x s N
-5 5
The value of @ + + - b, to the neares tenth \gs

" (Record your answer in the numencal response box from left to nght ) ‘ ’?j v ggj
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Trigonometry - Functions and Graphs Lesson #11: Practice Test

Use the following information to answer the next question.

589

>y11'

The partial graphs of two trigonometric functions are shown.

-

v

\j

- Graph 2

‘Graph-1 has équation y=acos[b(x— c)]+d . The equation for graph 2 can be obtairied .
from the equation for graph 1 by changing two of the parameters @@, b,c,andd.)

19. The two parameters that are changed are

bandd C. aandc

@ aandd B.

20. The height,  metres above the ground, at time, ¢, of a
student on the circular Ferris Wheel shown is given by
 the equation h(f) =-acos b(t-c) +d.

The diameter of the wheel is 12 metres and the student
starts at the bottom of the Ferris Wheel at =0 ata
height of 3 metres above the ground.

The value of d in the equation is _
[

A. 15 ‘:
o -

¥

B. 12 | »
) o -
D. 6

D. aandb
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590 Trigonometry - Functions and Graphs.Lesson #11: Practice Test

Written Response

On one particular dajl in Kylebane harbour, the equation of the sinusoidal function that
represénts the relationship between the depth of water, y metres, and the time, # hours

after midnight,is y=4 sin(%c(t + 2)) +15.

* Calculate the depth of water 4 hours after midnight.

[; =4 — i%f .
o State the maximum and minimum depths of water in the harbour.
19 m 1 a

* Calculate, as an exact value and as a decimal to the nearest tenth of a metre, the depth
of water at mldmght

» Alarge supertanker is in the harbour at midnight. It can remain in the harbour if the depth
* of water in the harbour is at least 12 metres. Since the minimum depth of water in the

~ harbour is less than 12 metres, the tanker will need to leave the harbour before the depth
falls below 12 métres.
Explain clearly how to use a graphlcal approach to determine the latest time, to the whole
hour, that the supertanker can remain in the harbour State an appropnate graphing

ca\lculator window. = 4gn ( { y 7 j v 15

L Yy -~

. Calculate the latest time, to the whole hour, that the supertanker can remain in the harbour.

g,é’; X 6 & wy Cery ixﬂ%\ féﬁéé’m@gw
AnswerKey _
Multiple Choice S
‘1. B 2.B - 3.A 4. C 5.D 6. A 7. A 8. C
9. C 10.D  11.A  12.B 13.B 14.B 15. A, 16.C

C17.A 18.D 19. A 20. C

Numerical Response
1. 2| 4 | 1] 2] 2.3 | 2|0 4 3.0 50 .| 90

4. | 3 2 3 5. | 1 0o | . 2 6. | 3 ) 6

Written Response

e 15m ¢« 19m,11m e 2/3+15m,185m - graph Y; =4 sin g(x+2) + 15,

graph Y, = 12 and use intersect feature of the calculator to determine the x co-ordinate of the first point
of intersection of the two graphs. Window may vary, x:[0, 24, 4] y:[0, 20, 4] * 5am
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